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 SPEC 92, GCC : Data miss ratio vs Cachesize 

Block size = 16 bytes, Assc. = 1

 .. -> conventional

 - -> 1’s complement

=?>#@ ACB�D
� E�� O T O R > X�XIB!O T > J JQS�������� X K O K�U DeX!>���D ]
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 SPEC 92, GCC : Data miss ratio vs Cachesize 

Block size = 16 bytes, Assc. = 2

 .. -> conventional

 - -> 1’s complement
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 SPEC 92, COMPRESS : Datamiss ratio vs Cachesize 

Block size = 16 bytes, Assc. = 1

 .. -> conventional

 - -> 1’s complement

=?>#@ A�B!D�� E�� >PX!X B!O T > J JQS��������
	���
�
 � X K O K�U DeX�> ��D ]
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 SPEC 92, COMPRESS : Data miss ratio vs Cachesize 

Block size = 16 bytes, Assc. = 2

 .. -> conventional

 - -> 1’s complement
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 SPEC 92, EQNTOTT : Data miss ratio vs Cachesize 

Block size = 16 bytes, Assc. = 1

 : -> conventional

 -- -> 1’s complement
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 SPEC 92, EQNTOTT : Data miss ratio  vs Cachesize 

Block size = 16 bytes, Assc. = 2

 : -> conventional

 -- -> 1’s complement

=(>P@ A�B�D�� E�� >PX�X B�O T > J\JQS���������������� X K O K�U DeX�> ��D ]
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 SPEC 92, HYDRO2D : Data miss ratio vs Blocksize 

Cache size = 32 Kbytes, Assc. = 2

 : -> conventional

 -- -> 1’s complement
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 SPEC 92, SWM256 : Data miss ratio vs Blocksize 

Cache size = 32 Kbytes, Assc. = 2

 .. -> conventionsl

 - -> 1’s complement
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 SPEC 92, TOMCATV : Data miss ratio vs Blocksize 

Cache size = 32 Kbytes, Assc. = 2

 : -> conventional

 -- -> 1’s complement

=?>#@ A�B�D�� E�� >PX�XiB!O T > J\JQS������ ������� � X H > V D X�>���D ]
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 SPEC 92, SU2COR : Data miss ratio vs Cachesize 

Block size = 16 bytes, Assc. = 2

 : -> conventional

 -- -> 1’s complement
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 SPEC 92, NASA : Data miss ratio vs Blocksize 

Block size = 64 bytes, Assc. = 2

 .. -> conventional

 - -> 1’s complement
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